

211/C.Boatghat, Namapara. Khilkhet. Dhaka-1229 Mobile-01712621855, 01819151245. EIIN-138971

E-Mail-lampsideal.02@gmail.com

SL No Date 8

Play Group Book list-2026

Subject	Book Name	Price	Total
			price
English	My First step ABC Alphabet.	=180	3850
	Rhymes for the Play group	=185	
Math	Learning Number book-1(1-50)	=180	
বাংলা	সহজবর্ণ পরিচয়(অ আ ক খ)	=135	
Drawing	How to draw and colour-A	=135	
Hand writing	English-3	=600	
	Math-3	=600	
	Bangla-3	=600	
Arabic	Arabic Writing for the beginners-0	=190	
	I D Card	=150	
	Sheet	=300	
	MT Exam	=300	
	Annual competition and cultural program expenses	=300	
	Discount		=110
	Price of Book		=3740
	Drowing Khata = $1x 60.00$	=60	=560
	Dairy = 1×300.00	=300	
	Tay & soulder	=200	
	Total Price		=4300

211/C.Boatghat, Namapara. Khilkhet. Dhaka-1229 Mobile | -01712621855, 01819151245. EIIN-138971

E-Mail-lampsideal.02@gmail.com

SL No Date 8

Nursery Book list-2026

Subject	Book Name	Price	Total
			price
English	English Avenue A Communicative English Primer-1.	=220	2614
	English Avenue ACommunicative English Activity-1.	=170	
	Rhymes for the Nursery	=185	
Math	Math Avenue Primer-A	=260	
বাংলা	সোনামনিদের বাংলা পড়া(ক)	=124	
Drawing	How to draw and colour-B	=135	
Arabic	Teaching of Islam Primer-A	=170	
	I D Card	=150	
	Sheet	=400	
	MT Exam	=500	
	Annual competition and cultural program expenses	=300	
	Discount		=74
	Price of Book		=2540
	Khata = 8×50.00	=400	=960
	Drowing Khata = 1×60.00	=60	
	Dairy = 1×300.00	=300	
	Tay & soulder	=200	
	Total Price		=3500



211/C.Boatghat, Namapara. Khilkhet. Dhaka-1229 Mobile | -01712621855, 01819151245. EIIN-138971

E-Mail-lampsideal.02@gmail.com

SL No Date 8

<u>K G</u> Book list-2026

Subject	Book Name	Price	Total price
English	English Avenue A Communicative English Primer-2.	=250	=2765
	English Avenue ACommunicative English Activity-2.	=185	
Math	Math Table Book	=185	
Social & GK	Social Studies and General Knowledge-0	=230	
বাংলা	সোনামনিদের বাংলা পড়া(খ)	=170	
Drawing	How to draw and colour-C	=135	
Arabic	Teaching of Islam Primer-B	=160	
	I D Card	=150	
	Sheet	=400	
	MT Exam	=600	
	Annual competition and cultural program expenses	=300	
	Discount		25.00
	Price of Book		=2740
	Khata = 10×50.00	=500	=1060
	Drowing Khata = 1×60.00	=60	
	Dairy = 1×300.00	=300	
	Tay & soulder	=200	
	Total Price		=3800



211/C.Boatghat, Namapara. Khilkhet. Dhaka-1229 Mobile | -01712621855, 01819151245. EIIN-138971

E-Mail-lampsideal.02@gmail.com

SL No Date 8

One Book list-2026

Subject	Book Name	Price	Total price
English 1st	English For Today	=000	=3903
	English Avenue ACommunicative	=390	
	Course in English Course book-1		
English-2nd	Lexis Smart Grammer Book-1	=330	
Math	Elementary Mathematics	=000	
	Maths Avenue Book-1	=390	
Social & GK	Social Studies and General	=280	
	Knowledge-1		
Computer	IT Dot Com Book-1	=215	
Science	Interactive Science Tab-its-1	=350	
বাংলা	আমার বাংলা বই	=000	
বাংলা ২য়	প্রথমপাঠ বাংলা ব্যাকরণ ও নির্মিত	=158	
Drawing	How to draw and colour-1	=155	
Arabic	Teaching of Islam Grade 1	=185	
	I D Card	=150	
	Sheet	=400	
	MT Exam	=600	
	Annual competition and cultural program expenses	=300	
	Discount		=63
	Price of Book		=3840
	Khata = 10×50.00	=500	=1060
	Drowing Khata = 1×60.00	=60	
	Dairy = 1×300.00	=300	
	Tay & soulder	=200	
	Total Price		=4900



211/C.Boatghat, Namapara. Khilkhet. Dhaka-1229 Mobile | -01712621855, 01819151245. EIIN-138971

E-Mail-lampsideal.02@gmail.com

SL No Date 8

<u>Two</u> <u>Book list-2026</u>

Subject	Book Name	Price	Total price
English 1st	English For Today	=000	=4097
	English Avenue ACommunicative	=395	
	Course in English Course book-2		
English-2nd	Lexis Smart Grammer Book-2	=350	
Math	Elementary Mathematics	=000	
	Maths Avenue Book-2	=450	_
Social & GK	Social Studies and General	=280	
	Knowledge-2		_
Computer	IT Dot Com Book-2	=265	
Science	Interactive Science Tab-its-2	=360	
বাংলা	আমার বাংলা বই	=000	
বাংলা ২য়	শিশুপাঠ বাংলা ব্যাকরণ ও নির্মিত	=192	
Drawing	How to draw and colour-2	=155	
Arabic	Teaching of Islam Grade 2	=200	
	I D Card	=150	
	Sheet	=400	
	MT Exam	=600	
	Annual competition and cultural program expenses	=300	
	Discount		=57
	Price of Book		=4040
	Khata = 10×50.00	=500	=1060
	Drowing Khata = 1×60.00	=60	
	Dairy = 1×300.00	=300	
	Tay & soulder	=200]
	Total Price		=5100



211/C.Boatghat, Namapara. Khilkhet. Dhaka-1229 Mobile | -01712621855, 01819151245. EIIN-138971

E-Mail-lampsideal.02@gmail.com

SL No Date 8

Three Book list-2026

Subject	Book Name	Price	Total price
English 1st	English For Today	=000	=1767
	English Avenue ACommunicative	=399	
	Course in English Course book-3		
English-2nd	Lexis Smart Grammer Book-3	=380	
Math	Elementary Mathematics	=000	
	Maths Avenue Book-3	=485	
Social	Bangladesh and global studies	=000	
Studies			
Computer	IT Dot Com Book-3	=395	
Science	Elementary Science	=000	
বাংলা	আমার বাংলা বই	=000	
বাংলা ২য়	সহজপাঠ বাংলা ব্যাকরণ ও নির্মিত	=258	
Islam	Islam and moral education	=000	
	নূরানী কুরআন শিক্ষা(কায়দা)	=২৫.००	
	নূরানী পদ্ধতিতে কুরআন শিক্ষা	=%0.00	
	Discount		=197
	Price of Book		=1570
	Khata = 15×30.00	=450	=880
	Dairy = 1×130.00	=130	
	Tay & soulder	=150	
	I D Card	=150	
	Total Price		=2450



211/C.Boatghat, Namapara. Khilkhet. Dhaka-1229 Mobile | -01712621855, 01819151245. EIIN-138971

E-Mail-lampsideal.02@gmail.com

SL No Date 8

Four Book list-2026

Subject	Book Name	Price	Total price
English 1st	English For Today	=000	=1644
	English Avenue ACommunicative	=425	
	Course in English Course book-4		
English-2nd	Lexis Smart Grammer Book-4	=410	
Math	Elementary Mathematics	=000	
	Maths Avenue Book-4	=430	
Social	Bangladesh and global studies	=000	
Studies			
Science	Elementary Science	=000	
বাংলা	আমার বাংলা বই	=000	
বাংলা ২য়	সহজ বাংলা ব্যাকরণ ও নির্মিত	=430	
Islam	Islam and moral education	=000	
	নূরানী পদ্ধতিতে কুরআন শিক্ষা	=७०.००	
	আমপাড়া	=%0.00	
	Discount		=124
	Price of Book		=1520
	Khata = 15×30.00	=450	=880
	Dairy = 1×130.00	=130	
	Tay & soulder	=150	
	I D Card	=150	
	Total Price		=2400



211/C.Boatghat, Namapara. Khilkhet. Dhaka-1229 Mobile | -01712621855, 01819151245. EIIN-138971

E-Mail-lampsideal.02@gmail.com

SL No Date 8

Five Book list-2026

Subject	Book Name	Price	Total price
English	English For Today	=000	=969
	Lexis Smart Grammer Book-4	=480	
Math	Elementary Mathematics	=000	
Social	Bangladesh and global studies	=000	
Studies			
Science	Elementary Science	=000	
বাংলা	আমার বাংলা বই	=000	
	সহজ ভ্যাশিক্ষা বাংলা ব্যাকরণ ও নির্মিত	=449	
Islam	Islam and moral education	=000	
	নূরানী পদ্ধতিতে কুরআন শিক্ষা	=60	
	আমপাড়া	=60	
	Discount		=99
	Price of Book		=870
	Khata = 15×30.00	=450	=880
	Dairy = 1×130.00	=130	
	Tay & soulder	=150	
	I D Card	=150	
	Total Price		=1750